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)
1 (3x9 )
( )
1 2 3 4 8
3 18 4 9 9 11 2 12 0 68
7 21 26 2 1 21 18 75 10 181
0 1 0 29 54 0 0 3 0 87
10 40 30 40 64 32 20 90 10 336
1 ; 2 ; 3 ; 5 ; 6
; 7 ; 8 ; 9
1 (
)
X X’ =282.093 a =0.05
Xg.os( (3-1)(9-1)) =X3A05( 16) =26.296
X =282.093 >yi ,s(16) =26.296 H,.
()
2 (3x3
11 16 41 68
32 59 170 261
0 1 6 7
43 76 217 336
2
X Cox'=2.283 a=0.05
X(z).os( (3-1)(3-1)) =X§A05(4) =9.488
Hy»

X =2.283 <xp o5s) =9 488

o
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3 (3x3 )
28 37 3 68
146 95 20 261
2 4 1 7
176 136 24 336
3 .
X X’ =9.186 a=0.05
X(z),os( (3-1)(3-1)) =X(2)A05(4) =9. 438
X =9.186 <ys s(4) =9.488 H,.
()
4 (2x9 )
)
1 2 3 4 6 7 8 9
4 2 3 23 13 5 5 34 0 89
6 38 27 17 51 27 15 56 10 247
10 40 30 40 64 32 20 90 10 336
4 .
2 L2 2
X X =47.071 a=0.05 x
Xoos((2=1) (9 =1)) =x5.05(8) =15.507
X =47.071 >x;i s(8) =15.507 H,.
()
5 (2x3 )
)
36 65 152 253
7 11 65 83
43 76 217 336
5 .
X ¥’ =9.13 a=0.05

Xgoi((z_l)(S_l)) :Xi.OS(Z) =5.991
X =9.13 >yt s(2) =5.991
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